MA 162 EXAM 2 Test 01 Fall 2009

1. Which of the following integrals arises when one makes a suitable trigonometric
substitution to compute
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3. Evaluate /m Z.
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4. What is the form of the partial fraction decomposition of
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Eval 1 4 d
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8. A surface is generated by rotating the curve y = 2v/1+4+z, 0 <z <2, about the
x—axis. Find the surface area of the surface.
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9. A lamina of uniform density has the shape of the region bounded by
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The area of the region is I Which expression gives the y—coordinate 4 of the center

of mass.
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10. The curve y =¢%, 0<z <2, is rotated about the y—axis. Which integral gives the
surface area of the surface of revolution.
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11. Which statement is true about the following improper integrals.
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